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1. Fülle die Lücken aus!

a) 1
4 = 3

12 b) 3
9 = 1

3 c) 24
32 = 3

4 d) 14
16 = 7

8 e) 60
100 = 3

5 f) 27
33 = 9

11

g) 20
50 = 2

5 h) 2
11 = 8

44 i) 36
42 = 6

7 j) 9
10 = 99

110 k) 45
105 = 3

7 l) 8
12 = 6

8

2. Wieviel sind...

a) 60 kg b) 600 kg c) e 180 d) 12m

3. Wieviel ist das Ganze?

a)88 cm b) 120 kg c) e 88 d) 400 km

4. Fülle die Lücken aus:

a) 45 von 200 sind 160 b) 2
9 von 180 sind 40 c) 6

8 von 32 sind 24

d) 9
10 von 110 sind 99 e) 8

3 von 12 sind 32 f) 5
6 von 270 sind 225

g) 92 von 10 sind 45 h) 7
20 von 400 sind 140 i) 1

12 von 72 sind 6

Das war gar nicht schwierig!
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